1= ™~ B ROAD 390 ) o | < @) < QS Y AL IZVY
a | 4 g 2 S 2 g ® D
g w ROAD 385 2 8 ; 3 g N
ROAD 380 g ROAD 380 2 ROAD 380 z ROAD 380 3 roaDsso /7 ROADS0 o) RO AD 380
-4 al -
' g q 2 = 3' & 3700
ROAD 370 ROAD 370 ROAD 370 = ROAD 370 gl = g\ = ROAD 370
g[ 5 i P 3600
B RO,
‘ g 9 — 2 x
IROAD 350 g ROAD 360 = g ROAD 360 O 2 g| ROAD 360 ROAD 360
2 2 o 2 g 500
g 2 g 2 2 S
ROAD 350 -904034 ] ROAD 350 AOAD 350 ROAD 35 ROAD 350 & g o £1 Roap 35 ROAD 350 ROAD 350
@ 9 2 N
= g ) ; ey ROAD 345 5 ; 2 ?, / 9 3400
[ =] o) @) b Q
= & & ROAD 340 Allen &3’ 2 AOAD 340 / ROAD 340 T ROAD 340
>
2 o335 = ~ | g 3300 =
- Bush i g - - 5
(o) ushon g g ol ROAD 330 Admire ROAD 330 | ROAD 330 QE;O_D"OE ROAD 330 g
Q . o 9
%) " [ 8 L= 3200
E ROAD 320 AGAD 320 ; ROAD 820 ROAD 32 _g | ROAD320 | ROAD320 ROAD 320 o
z T K w
g el ) g g / 3100 0}
= ROAD 310 " Q g RoaDjstn & ROAD 310 <
[T (] & I = (7))
2 g ROAD 305 2 3000 Q@
o 8 S S
Q = ROAD 30 = ROAD 300 99 ROAD 300 L] ROAD 300 ROAD 300
< 2 X b‘-
E | o 9 2900
L3 ROAD 290 ol g 5 ROAD 290 ROAD 200 ROAD200 ROAD 290
Iy ) 2 o 3
1 g g e g E £ ; E ROAD 28 g 2800
o o
< 'b%.,) € & ROAD[280 g FOAD 280 3 2 g ROAD, 250 ROAD 280
3
g & = g g ROAD 275 2700
4 o = 2 3 2 >
%, | 2 2 = ROAD'270 & g FIOAD 270 ozl ROAD 270
ROAD 265 10*9 5 g g / = 7
AD 26¢ s g 2600
'3 N
%o, ROAD]260 g "\ ROAD 260 ‘;? ROAD 260 ROAD 260 2 ROAD 260
S
=N § 2 c-§ 'é 5 ROAD 255 T 2500
7 o] 2
ey up— ROAD 250 ROAD 250 E : ROAD 250 l,\_'? ROAD 250 @ 9 ROAD 250
< )
) & [ <)
ROAD 245  ROAD 245 g & %
24 - 2400
I l z p ROAD 240 ROADﬁOea(l’Ing
ROAD 240 . ! . ROAD 240 o » ROAD 240
Americus @ 3 e OAD 255
A ] 2 2 2AD 2 2300
ROAD 230 ROAD 230 ROAD 230 = ROAD 230
r‘—lﬂw 225  ROAD 225 2200
F——— w]
x >
ROAD 220 9 el ROAD 220
2 “ o 5 ol
9 i ROAD 215 & | 9 & 2100
o x =]
8l  noapeie 25 9 ROAD 210 2 ,ROAD 210 % 9 ROAD 210 ROAD 210 ROAD 210
< Q A ATy o
a ‘:I ROAD 205 ngq/\‘% = 2000
@
& = ROAD 200 l 2 s ROAD 200 b ROAD 20 ROAD 200
<] o w h ot | ROAD 197 e
2 2 o g ] e « el s 1900
o
g|-ROAD 180 E 2 q g D 190 % g ROAD 19 e o u RO D mh Deiw
us =% &
4 SEEE B 2 g g
2 g o g 3 & g 1800
ROAD 180 © [ E e i ) é 3| roaptsn & FoADd8d —' ROAD 180
< ] e w
g ot 2
. g amI =§: 3 2 g LROADATE o S0 == 1700
e———— 2%,
2| Ao 170 = Aoap— RODT70 “fl ROAD 170
€ 2o 6> = =
[ \\_ g ..,l = 2 N
% 55 3 3 2 g 2 1600
& % _ROAD 160 J\E’ ROAD 160 ” - & I°] ROAD 1602
; DAD 160_ A e - 'g‘ 5 [ Q_ gl = ROAD 160
/—|_‘E RO. E g 2 o __ ROAD 155 =0
é ROAD 150 ROAD 15 § ROAD 150 5 ROAD 150 ROAD 150 ROAD 150
AAD 147 2
] ; ROAD 145 RO La 3 1 ' 1400
g ROAD 143 & °= Neosho:Rapids
& ROAD 140 x 2 RoAD|140 ROAD 140 i ) ROAD 140
[ CI CRose7 [B ROAD 137, i 3
2 <] ROAD 135 a ROAD 135 3| @)
;‘ 2 g bz 3 @ <] L2400
AD 130 & ROAD 130 | (59 £ ) HOAD 150 ~Hom sl ROAD 130
-] e E3 |
> T 9 2 ROAD 125 [
= P o \ﬁ 8 o ROAD 123 Uil
= ROAD 120 | ROz i AOAD 120 ROAD 12 2 g| AT ROAD 120
= ROAD 115 /; 2 g o 2
IOAD 115
(@] 7 i = e Q g 1100
ROAD 110 ROAD 110 ROAD 110 ROAD 110 &
(&) | g g - - ‘”75 T AD 108 ROAD 110
w ROAD 105 & 2 ROAD, 105
7] g 3 & s - 1 1000
2 ROAD 10 ROAD 100 o rowwo of F o Hartford #|| RoAD 100
XL ” 5 ol & 2 g > ROAD ¢
© 2 T £ - 2 2 i 900
g S g ZIRoAD 80 9 2 ] [
2 2 3 s = &t =z 3 ROAD 90
& rospes fI = o ] g a e 3
w ] S ROAD 83 2 3 2 e © 800
o ROAD 80 9 a = 9 4 ROAD 80 2l a ROAD 80
[= =] =] 3
2 2 ) § RoAD 7 € ROAD 75 4
I
% 2 Ql L | —| 700
L2 ROAD 70 ol _Olpe, .~ ROAD 70 | _ROAD 70| ROAD 70 ROAD 70
T p = §L = o &gl ROAD 70
. X 2 2 3 @ g 2 £02
ROAD 60 © g g 9 ROAD 60 [ ROAD 60
2 = g £ 2 J
2 500
o (99) >~
ROAD 50 & ROAD 50 B ROAD 50 ROAD 50 ROAD 50 =
ol & 2 =
o [=]
g 2 a 2 € . 400 D
€ |ROAD 40 & B g ROAD 40 & z ROAD 40 Q O
—s §—fop o} = ~ 5 2 ROAD 40 O
w 3 H € = 2 ol @ © 300
RoAD %0 3 ROAD3D g 2 —_— 2 | 2 o & E
ROAD 30 H =) & a0 &
3 o— & g 3 = g ROAD 30 o
1 Q| RoAD 28 = 1 o [ | snn | He




